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SECTION A: READING COMPREHENSION 
 
Read the following passage carefully. Then answer the questions that follow it: 

 
For most of us, work is the central, dominating fact of life. We spend more than half our 

conscious hours at work, preparing for work, traveling to and from work. What we do 

there largely determines our standard of living and to a considerable extent the status 

we are given by our fellow citizens as well. It is sometimes said that because leisure has 

become more important, the indignities and injustices of work can be pushed into a 

corner; that because most work is pretty intolerable, the people who do it should 

compensate for its boredoms, frustrations and humiliations by concentrating their hopes 

on the other parts of their lives. I don't think this is the right attitude. For the foreseeable 

future the material and psychological rewards which work can provide, and the 

conditions in which work is done, will continue to play a vital part in determining the 

satisfaction that life can offer. Yet only a small minority can control the pace at which 

they work or the conditions in which their work is done; only for a small minority does 

work offer opportunity for creativity, imagination or initiative.  

 

Inequality at work and in work is still one of the cruelest and most glaring forms of 

inequality in our society. We cannot solve the more obvious problems of industrial life, 

many of which arise directly or indirectly from the frustrations created by inequality at 

work, unless we deal with it decisively. Still less can we hope to create a decent and 

humane society.  

 

The most glaring inequality is that between managers and the rest. For most managers, 

work is an opportunity and a challenge. Their jobs are interesting and allow them to 

develop their abilities. They are constantly learning; they are able to exercise 

responsibility; they have a considerable degree of control over their own – and others’ – 

working lives. Most important of all, they have the opportunity to initiate. By contrast, for 

most manual workers, work is boring, monotonous, even painful experience. They spent 

all their working lives in conditions which would be regarded as intolerable – for 

themselves – by those who could improve those conditions. The majority have little 

control over their work; it provides them with no opportunity for personal development. 

Often production is so designed that workers are simply part of the technology. In 

offices, many jobs are so routine that workers justifiably feel themselves to be 

unimportant parts in the bureaucratic machine. As a direct consequence of their work 
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experience, many workers feel alienated from their work and their firm, whether it is in 

public or private ownership.  

 

Rising educational standards feed rising expectations, yet the amount of control which 

the worker has over his own situation does not rise accordingly. In many cases his 

control has been reduced. Symptoms of protest increase – rising sickness and 

absenteeism, high turnover of employees, restrictions on output, and strikes, both 

unofficial and official. There is not much escape out and upwards. As management 

becomes more professional – in itself a good thing – the opportunity for promotion from 

shop floor becomes less. The only escape is to another equally frustrating manual job; 

the only compensation is found not in the job but outside it, if there is a rising standard 

of living.  

 

1.   In the writer’s opinion people judge others by  

            A   the type of work they do.  

            B   the place where they work.  

            C   the time they spent at work.  

            D   the amount of money they earn. 

 

2.   According to the writer, in the future work will 

             A   matter less than it does now.  

             B   be as important as it is now.  

             C   be better paid than it is now.  

             D   offer more satisfaction than it does now.  

 

3.   What does the writer think is needed to solve our industrial problems? 

             A   A reduction in the number of strikes.  

             B   Less inequality in salaries.  

             C   A more equal distribution of responsibility.  

             D   An improvement in moral standards.  

 

4.   What advantages does the writer say managers have over other workers? 

             A   They cannot lose their jobs.  

             B   They get time off to attend courses.  

             C   They can work at whatever interests them.  

             D   They can make their own decisions.  
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5.   Why do working conditions generally remain bad? 

             A   The workers are quite satisfied with them.  

             B   No one can decide what to do about them.  

             C   Managers see no need to change them.  

             D   Office workers want to protect their position.  

 

6.   What frustrates the workers in a modern factory? 

             A   They are incapable of doing their work properly.  

             B   Their work interferes with their private lives.  

             C   They feel that they are less important then their machines.  

             D   Their life is complicated by technological advances.  

 

7.   In the writer’s view, what is the position nowadays of white – collar workers ? 

             A   They are being replaced by machines.  

             B   They are becoming more numerous.  

             C   They are worse off than manual workers.  

             D   They are finding their work pointless.  

 

8.   As a result of better education, people 

             A   feel entitled to more responsible jobs.  

             B   are constantly changing jobs.  

             C   want to own their own business.  

             D   find their jobs more interesting.  

 

9.   Workers are frequently absent from work because 

             A   they are attending protest meetings.  

             B   they are dissatisfied with their jobs.  

             C   they are forbidden to produce too much.   

             D   they are forced to work too hard.  

 

10.   Why are so few ordinary workers promoted nowadays? 

             A   They don’t have the right qualifications. 

             B   They are no longer ambitious.  

             C   The best workers have already been promoted.  

             D   It would be too expensive for the companies. 

(20 marks) 
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SECTION B: USE OF ENGLISH 

 

Part  1 
 
From the word in brackets form another word which suitably fits into the blank 
space. 
 
 
1. The violent storm caused the ________________ of several houses. (DESTROY) 

2. Some people, especially old, suffer from _________________ and lack of 

concentration. (FORGET) 

3. If you want to go out you must have ______________. (PERMIT) 

4. What reasons have you got for this ______________ . (ASSUME) 

5. Leonardo da Vinci possessed a very _____________ mind. (INVENT) 

6. He never does his homework. He is a (n) ____________pupil. (RESPONSIBLE) 

7. His _______________ to carry out the task made his employer fire him. 

(WILLING) 

8. Thousands of people injure themselves by using tools _________ at work. 

(CARE) 

9. This small country has now lost its ______________ . (DEPEND) 

10. How can we abolish __________________ ? (HUNGRY) 

            
           (15 marks) 
 
Part  2 
 
Questions 1 to 10 are incomplete sentences. Beneath each sentence you will see 
four words or phrases, marked (A), (B), (C), and (D). Choose the one word or 
phrase that best completes the sentence.  
 

1. I ran ___________ my old friend John, the other day.  

A. into B. over C. out of D. across 

 

2. Why don’t you look ____________ the word in a dictionary? 

A. on B. up C. out D. through 

 

3. To promote their product, the company is going to give _________ free samples. 

A. in B. off C. up D. away 
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4. At the customs I had to pay ___________ on a watch I had bought.  

A. taxes B. fine C. duty D. rates 

 

 

5. I have got ___________ money and I can’t afford a holiday. 

A. few B. little C. a few D. a little 

 

6. In the old days people believed the world was flat and ships would fall off the 

__________ . 

A. end B. border C. limit D. edge 

 

7. Her grades have improved, but only __________ . 

A. in a small amount 

B. very slight 

C. minimum 

D. some 

 

8. The changes in this city have occurred _________ . 

A. with swiftness 

B. rapidly 

C. fastly 

D. in a rapid ways 

 

9. Neither Jane nor her brothers __________ a consent form for tomorrow’s field trip. 

A. need 

B. needs 

C. is needing 

D. has need 

 

10. That magnificence _________ temple was constructed by the Chinese. 

A. eight – centuries – old 

B. eight – century’s – old 

C. old – eight  - centuries 

D. eight – century – old 

 

     (10 marks) 
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Part  3 
 
Fill in the blanks with the appropriate tense of the verb in brackets to complete 
the sentence correctly. 
 
 
1. Peter __________ 13 tomorrow. (BE) 
 
2. They _______________________ their car. It looks new again. (CLEAN) 
 
3. Listen! Mr Jones __________________ the piano. (PLAY) 

 
 
4. We ____________________ a test now. (WRITE) 
 
5. He __________________ his money. So he can't buy this hamburger. (LOSE) 
 
6. I __________ to visit you yesterday, but you _________not at home. (WANT) 

(BE) 
 
7. There are a lot of clouds! It __________________ soon. (RAIN) 

 
8. Since 2003 they ___________________ their son every year. (VISIT) 
 
9. After Larry _________________ the film on TV, he decided to buy the book. 

(SEE) 
 
10. I _________________the new Harry Potter book now, so you can borrow my copy 

if you like. (FINISH) 

(10 marks) 

Part  4 
 
Give the opposite English word to each of the following. 
 
1. Wide   __________ 

2. Brave   __________ 

3. Desperate  __________ 

4. Occasionally  __________ 

5. Presence  __________ 

6. Male   __________ 

7. Major   __________ 

8. Seldom   __________ 

9. Subtract  __________ 

10. Ancient   __________ 

(5 marks) 
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Part   5 
Select the correct preposition for the blank in each sentence. Use only the 
following prepositions. More prepositions than needed are given. 
 
(AT, BY, ON, ABOVE, OVER, NEAR, OF, TO, FROM, THROUGH, ALONG, IN, LIKE, 
ABOUT, FOR, WITH, UP, SINCE)  
 
1. She complains __________ bullying. 

2. We are interested _________ seeing this film. 

3. Andrew apologized _______ being late. 

4. The girls insisted _______ going out with Kerry. 

5. I'm tired __________ waiting for you. 

6. We are not looking forward ____________going back to school. 

7. __________ moving to Nicosia, we haven’t had time to go to the theatre.  

8. This song was written ______ Madonna. 

9. You can look the word _______ in a dictionary. 

10. The police car chased the robbers ________ the streets. 

            
           (5 marks) 
Part   6 
Complete the second sentence so that it has a similar meaning to the first one. 
Use the word in bold and other words to complete each sentence. Do not change 
the words given.  
 

1. The workers only complain because of the unfair treatment.  

 (fairly) 

If the workers ______________________, they wouldn’t complain. 

 

2. Although we wanted to go for a walk, we didn't, because of the rain.  (prevented) 

The rain ____________________ for a walk.  

 

3. She bought everything except oranges.       

 (didn’t) 

The only __________________ was oranges. 

 

4. I remember my father taking me to the park.     

 (being) 

I remember ______________________ by my father.  
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5. People say that Cyprus is a beautiful country.      

 (said) 

Cyprus _______________________ a beautiful country. 

            
           (5 marks) 

 

SECTION C: COMPOSITION 
 
Write a composition of 200-250 words on ONE of the given topics: 
 
1. An Adventure 

2. A forest fire – a catastrophic event 

3. Write a newspaper article describing the benefits of the forest. 

            

   (30 marks) 
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Να απαληήζεηε ζε όιεο ηηο εξσηήζεηο 
 
Δξώηεζε  1 
Να αλαθέξεηε ηέζζεξα λνζήκαηα πνπ ζρεηίδνληαη κε ην γελλεηηθό ζύζηεκα ηνπ 
αλζξώπνπ θαη κεηαδίδνληαη κε ηε ζεμνπαιηθή επαθή. 

(Μνλάδεο  4) 
 

Δξώηεζε  2 
Να γξάςεηε ηξείο ζεκαληηθέο δηαθνξέο κεηαμύ θπηηθώλ θαη δσηθώλ θπηηάξσλ. 

(Μνλάδεο   3) 
 

Δξώηεζε  3  
Να εμεγήζεηε ηη ελλννύκε κε ηνλ όξν εξκαθξόδηηα άλζε. 

(Μνλάδεο   3) 
 

Δξώηεζε  4 
Να εμεγήζεηε ηη ελλννύκε κε ηνλ όξν “Μαδηθός Αρηζκός” ελόο ρεκηθνύ ζηνηρείνπ. 

(Μνλάδεο  3) 
 

Δξώηεζε  5 
Να γξάςεηε ηα ζύκβνια ησλ πην θάησ ρεκηθώλ ζηνηρείσλ: 
Κάιηο, Ιώδηο, Υδράργσρος, Φιώρηο, Μαγλήζηο, Φρσζός, Φαιθός, Υδρογόλο. 

(Μνλάδεο   4) 
 

Δξώηεζε  6  
Να νλνκάζεηε ηηο πην θάησ ρεκηθέο ελώζεηο θαη λα ηηο θαηαηάμεηε ζε νμέα, βάζεηο θαη 
άιαηα: 
KOH, FeS, H3PO4, Ca(OH)2, H2SO4, NaCl 

(Μνλάδεο   6) 
 
Δξώηεζε  7 
Να εμεγήζεηε ηνπο πην θάησ όξνπο: 
   α)  Δμάρλσζε, 
   β)  Σήμε, 
   γ)  Άλσζε. 

(Μνλάδεο   6) 
 

Δξώηεζε  8 
Να δώζεηε πέληε ιόγνπο γηα ηνπο νπνίνπο ηα δάζε ηεο Κύπξνπ είλαη πνιύηηκα. 

(Μνλάδεο   5) 
 

Δξώηεζε  9 
Να γξάςεηε ηα νλόκαηα: 
   α)  ηνπ κεγαιύηεξνπ ζειαζηηθνύ πνπ δεη ζε άγξηα θαηάζηαζε ζηα δάζε ηεο   Κύπξνπ, 
   β)  ελόο ελδεκηθνύ θσλνθόξνπ θπηνύ ησλ δαζώλ ηεο Κύπξνπ, 
   γ)  δύν ζάκλσλ ησλ δαζώλ ηεο Κύπξνπ, 
   δ)  ελόο ελδεκηθνύ πνπιηνύ ηεο Κύπξνπ, 
   ε)  δύν εξπεηώλ ηεο Κύπξνπ, 
 ζη)  ηνπ δέληξνπ ηεο ρξνληάο 2010. 

(Μνλάδεο   6) 
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Δξώηεζε  10 
Να νλνκάζεηε ηα Τπνπξγεία ζηα νπνία αλήθνπλ νη πην θάησ Τπεξεζίεο/Σκήκαηα ηεο 
Κππξηαθήο Γεκνθξαηίαο: 
   α)  Σκήκα Γαζώλ, 
   β)  Δζληθή Φξνπξά, 
   γ)  Σκήκα Φπιαθώλ, 
   δ)  Μεηεσξνινγηθή Τπεξεζία, 
   ε)  Τπεξεζία Μεηαιιείσλ, 
 ζη)  Σκήκα Πνιηηηθήο Αεξνπνξίαο 

 (Μνλάδεο  3) 
 

Δξώηεζε  11 
Να αλαθέξεηε ηα νλόκαηα ησλ ειεθηξνπαξαγσγώλ ζηαζκώλ πνπ ιεηηνπξγνύλ ζηελ 
ειεύζεξε Κύπξν. 

(Μνλάδεο  3) 
 

Δξώηεζε  12 
Να αλαθέξεηε ζε πνηα επαξρία ηεο Κύπξνπ αλήθνπλ νη πνην θάησ θνηλόηεηεο: 
α)  Αξαδίππνπ 
β)  Πξόδξνκνο 
γ)  Κάξκη 
δ)  Πεγαίλεηα 
ε)  Πξνδξόκη 
ζη)  Αγία Σξηάδα  

(Μνλάδεο   3) 
 

 
Δξώηεζε  13 
Να γξάςεηε ηξία θάζηξα πνπ βξίζθνληαη ζηνλ Πεληαδάρηπιν. 

(Μνλάδεο   3) 
 

 
Δξώηεζε  14 
Να γξάςεηε πνηα γεγνλόηα ηεο Ιζηνξίαο ηεο Κύπξνπ ζπλδένληαη κε ηηο πην θάησ 
εκεξνκελίεο: 
α)  1ε  Απξηιίνπ 1955 
β)  20ε  Ινπιίνπ 1974 
γ)  15ε  Ννεκβξίνπ 1983 
δ)  1ε  Μαΐνπ 2004 

 (Μνλάδεο    4) 
 
 

Δξώηεζε  15  
Να γξάςεηε πνηεο ζξεζθεπηηθέο γηνξηέο ενξηάδνληαη ζηηο πην θάησ εκεξνκελίεο: 

α)  25ε  Μαξηίνπ 
β)  30ε  Ιαλνπαξίνπ 

 γ)  1ε    Ιαλνπαξίνπ 
 δ)  25ε  Γεθεκβξίνπ 

(Μνλάδεο    4) 
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Δξώηεζε  16 
Να αλαθέξεηε ηέζζεξηο  ιανύο πνπ θαηάθηεζαλ ηελ Κύπξν κεηά ηελ ειιεληζηηθή 
πεξίνδν. 

 (Μνλάδεο   4) 
 

Δξώηεζε  17 
Να γξάςεηε  δύν ζύκβνια ηεο Κππξηαθήο Γεκνθξαηίαο. 

(Μνλάδεο   2) 
 

Δξώηεζε  18 
Να αλαθέξεηε δύν Έιιελεο πνηεηέο πνπ έρνπλ ηηκεζεί κε ην Νόκπει Λνγνηερλίαο. 

(Μνλάδεο   2) 
 

 
Δξώηεζε  19 
Να γξάςεηε ζε πνηα ήπεηξν βξίζθνληαη νη πην θάησ έξεκνη: 
α)  Έξεκνο Παηαγνλίαο 
β)  Έξεκνο ηεο Μεγάιεο Λεθάλεο  
γ)  Έξεκνο Καιαράξη 
δ)   Μεγάιε Έξεκνο ηεο Βηθηόξηα   

(Μνλάδεο   4) 
 

Δξώηεζε  20 
Να αλαθέξεηε ηελ Δπξσπατθή ρώξα ζηελ νπνία εμεξξάγε ην εθαίζηεην θνληά ζηνλ 
παγεηώλα Δηγηαθηαηιαγηνθνύι  ηνλ Απξίιην ηνπ 2010, θαζώο θαη δύν ζνβαξά 
πξνβιήκαηα πνπ πξνθάιεζε ε έθξεμε απηή. 

(Μνλάδεο   4) 
 

Δξώηεζε  21 
Να γξάςεηε ην νλνκαηεπώλπκν ησλ πην θάησ πξνζσπηθνηήησλ: 
α)  Πξσζππνπξγνύ ηεο Ιηαιίαο, 
β)  Πξνέδξνπ ησλ Ηλσκέλσλ Πνιηηεηώλ Ακεξηθήο, 
γ)  Τπνπξγνύ Οηθνλνκηθώλ ηεο Διιάδαο, 
δ)  Τπνπξγνύ Γεσξγίαο, Φπζηθώλ Πόξσλ θαη Πεξηβάιινληνο ηεο Κύπξνπ, 
ε)  Δπίηξνπνο Αληαγσληζκνύ ηεο Δπξσπατθήο Έλσζεο. 

(Μνλάδεο    5) 
 

 
Δξώηεζε  22 
Να αλαθέξεηε γηα ην Παγθόζκην Κύπειιν Πνδνζθαίξνπ ηνπ 2010 ηα πην θάησ: 
α)  ζε πνηα ρώξα δηεμήρζε,  
β)  πόζε ήηαλ ε δηάξθεηά ηνπ, 
γ)  πνηα ρώξα θέξδηζε, 
δ)  δύν  πόιεηο ζηηο νπνίεο δηεμήρζεθαλ αγώλεο ηεο ηειηθήο θάζεο, 
ε)  ην καζθόη. 

(Μνλάδεο   5) 
 

Δξώηεζε  23 
Να αλαθέξεηε έμη πιαλήηεο ηνπ ειηαθνύ καο ζπζηήκαηνο. 

(Μνλάδεο   3) 
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Δξώηεζε  24 
Να εμεγήζεηε ηνπο πην θάησ όξνπο: 
α)  θπγνζηξαηία 
β)  ζεξκνπιεμία 
γ)  άιθνηεζη 

(Μνλάδεο   6) 
 
 

Δξώηεζε  25  
Να γξάςεηε ηα νλόκαηα 10 ρσξώλ ηεο Δπξσπατθήο Έλσζεο θαζώο θαη ηελ αληίζηνηρε 
πξσηεύνπζα ηεο θάζε κηαο. 

(Μνλάδεο    5) 
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Γηάξθεηα: 1 ώξα θαη 30 ιεπηά 
Μνλάδεο: 100 

 
 

 
 
 
 
 
 
 
 
 

ΣΟ ΓΟΚΙΜΙΟ ΑΠΟΣΔΛΔΙΣΑΙ ΑΠΟ ΣΡΔΙ΢ (3) ΢ΔΛΙΓΔ΢ 
 
 
ΔΡΩΣΗ΢Η 1 

Λύζηε ηηο πην θάησ εμηζώζεηο: 

 

Α)  6Υ2 + 13Υ – 5 = 0 

 

Β)   

 

Γ)   

         (9 κνλάδεο) 

 
ΔΡΩΣΗ΢Η 2 

Ο ηξνρόο ελόο ακαμηνύ έρεηο αθηίλα 10 ίληζεο. Να ππνινγίζεηε πόζα κέηξα ζα 

δηαλύζεη ην ακάμη κεηά από 40 πιήξεηο πεξηζηξνθέο ηνπ ηξνρνύ.  

(3 κνλάδεο) 

 

 

 

 

ΟΓΗΓΙΔ΢: 
α) Να ιύζεηε όιεο ηηο αζθήζεηο. 
β) Να ρξεζηκνπνηήζεηε πέλλα. Σα ζρήκαηα κπνξνύλ λα γίλνληαη κε κνιύβη. 

Απαγνξεύεηαη ε ρξήζε δηνξζσηηθνύ πγξνύ. 
γ) Γελ επηηξέπεηαη ε ρξήζε ππνινγηζηηθήο κεραλήο. 
δ) Όπνπ νη απαληήζεηο είλαη δεθαδηθνί αξηζκνί, λα δίλνληαη κε αθξίβεηα ελόο 

δεθαδηθνύ ςεθίνπ.    
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ΔΡΩΣΗ΢Η 3 
Έλα νηθόπεδν ην 1995 είρε πσιεζεί πξνο € 40 000. Σν 2009 ην ίδην νηθόπεδν 

πσιήζεθε πξνο € 180 000. Τπνινγίζηε ην κέζν εηήζην εθαηνζηηαίν πνζνζηό 

αύμεζεο ηεο αμίαο ηνπ νηθνπέδνπ.  

(3 κνλάδεο) 

ΔΡΩΣΗ΢Η 4 
Η ζεκεξηλή κέζε βαζκνινγία ηνπ Κώζηα, κεηά θαη ην πέκπην δηαγώληζκα είλαη 

88. Να ππνινγίζεηε ηη βαζκό ρξεηάδεηαη ν Κώζηαο ζηελ ηειηθή εμέηαζε, ε νπνία 

έρεη ηελ ηεηξαπιάζηα βαξύηεηα από ην ζύλνιν ησλ πέληε δηαγσληζκάησλ έηζη 

ώζηε ν ηειηθόο βαζκόο ηνπ Κώζηα ζην κάζεκα λα είλαη 90.  

(3 κνλάδεο)  

ΔΡΩΣΗ΢Η 5 
Η επζεία Φ=αΥ+β είλαη παξάιιειε κε ηελ επζεία ς=3Υ+3 θαη πεξλά από ην 

ζεκείν (2, -1). Να ππνινγίζεηε ηηο ζηαζεξέο α θαη β.  

(6 κνλάδεο) 

 

ΔΡΩΣΗ΢Η 6 
Η ΑΒ είλαη εθαπηόκελε θαη ζηνπο δύν θύθινπο θαη έρεη κήθνο 20 εθαηνζηά. Να 

ππνινγίζεηε ηελ απόζηαζε ΓΓ αλ νη αθηίλεο ησλ δύν θύθισλ είλαη 7 θαη 15 

εθαηνζηά αληίζηνηρα.  

 
    Α                    Β 

 
 
(10 κνλάδεο) 

 
 
 
 
 
ΔΡΩΣΗ΢Η 7 

Κπιηλδξηθό δνρείν κε αθηίλα 5 κέηξα πεξηέρεη λεξό κέρξη ην ύςνο ησλ 4 κέηξσλ. 

΢ην δνρείν απηό ηνπνζεηείηαη κεηαιιηθή ζθαίξα ε νπνία θαη βπζίδεηαη. Σν ύςνο 

ηνπ λεξνύ ζηνλ θύιηλδξν απμάλεηαη θαηά 40 εθαηνζηά. Να ππνινγίζεηε ηελ αθηίλα 

ηεο ζθαίξαο.  

(12 κνλάδεο) 

 
ΔΡΩΣΗ΢Η 8 

Τπνινγίζηε ηηο γσλίεο Υ, Φ, Χ         

   Ο 

 
                                                                 
                                                             Υ  2Υ    Υ 
 
 
                                      140ν       Φ      Χ        100ν 
                                         Α            Β                    Γ              Γ 

(12 κνλάδεο) 

Γ 
 

Δ 
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ΤΠΟΤΡΓΔΙΟ ΓΔΩΡΓΙΑ΢, ΦΤ΢ΙΚΩΝ ΠΟΡΩΝ ΚΑΙ ΠΔΡΙΒΑΛΛΟΝΣΟ΢ 
 

ΣΜΗΜΑ ΓΑ΢ΩΝ 
 
 
 
 
 
 

ΔΙ΢ΑΓΩΓΙΚΔ΢  ΔΞΔΣΑ΢ΔΙ΢  ΢ΤΜΦΩΝΑ  ΜΔ  ΣΟΤ΢  ΠΔΡΙ  ΓΑ΢ΙΚΩΝ 

ΜΑΘΗΣΔΤΟΜΔΝΩΝ  ΚΑΝΟΝΙ΢ΜΟΤ΢  ΓΙΑ  ΔΙ΢ΓΟΥΗ  ΢ΣΟ  ΓΑ΢ΙΚΟ  ΚΟΛΛΔΓΙΟ 

ΚΤΠΡΟΤ 

 
 
 
 

 
 
 

Θέκα: Νέα Διιεληθά 
 

Ηκεξνκελία:  ΢άββαην, 24 Ινπιίνπ 2010 
 
 

Γηάξθεηα:  1 ώξα θαη 30 ιεπηά 
 

Μνλάδεο:  100 
 
 
 
 
 
 
 
 

ΣΟ ΓΟΚΙΜΙΟ ΑΠΟΣΔΛΔΙΣΑΙ ΑΠΟ ΣΡΔΙ΢ (3) ΢ΔΛΙΓΔ΢ 
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ΜΔΡΟ΢ Α 
Δηαβάζηε κε προζοτή ηο πηο θάηφ δοθίκηο θαη απαληήζηε ηης ερφηήζεης ποσ 
αθοιοσζούλ. 

Σα δέληξα ξηδώλνπλ ζηε γε καο 
(Φρσζόζεκης Φαηδεπαλαγή: Πράζηλες Σθέυεης (Δρσάδες) – έθδοζε Ποιηηηζηηθού Ιδρύκαηος Τραπέδες Κύπροσ θαη 
Φηιοδαζηθού Σσλδέζκοσ Κύπροσ) 
Οη δηζπξακβηθέο καο αλαθνξέο ζηελ Δβδνκάδα Πξαζίλνπ, πνπ επηζηεγάδνληαη κε ηηο 
εληαύζηεο ηειεηνπξγηθέο ζπνλδέο κηαο δελδξνθύηεπζεο, δελ εμαληινύλ ηα θαηάινηπα ηεο 
παλάξραηαο δελδξνιαηξείαο καο ή ηα ηδηνηειή, έζησ, σθειηκηζηηθά καο θίλεηξα γηα ηα 
δέληξα. 
Δδώ ζε ηνύην ηνλ ηόπν, ηελ άιινηε «δαζόεζζα» θαη «δελδξόεζζα Κύπξν», αιιηώο ζα 
έπξεπε λα γλνηαδόκαζηε θαη λα κειεηνύζακε ηελ επηβίσζε θαη ηελ αλαβίσζή καο θαη 
αιιηώο λα ζηαζκίδακε ηελ νηθνινγηθή καο ζπλείδεζε. Οη πεξηζηαζηαθέο καο αηνκηθέο 
πξνζπάζεηεο θη νη νκαδηθέο καο ελέξγεηεο γηα ηε δηαηήξεζε θαη ηελ επαύμεζε ηνπ 
πξάζηλνπ ζεζαπξνύ καο ζα έπξεπε λα πξνζιακβάλνπλ ζπλερώο ηνλ ραξαθηήξα κηαο 
καθξνπξόζεζκεο ζπιινγηθήο πξσηνβνπιίαο ζε ζπλδπαζκό κε ηηο θαζ΄ ππαγόξεπζε 
θηλεηνπνηήζεηο ή παξνηξύλζεηο κηαο θξαηηθήο θαη θνηλνηηθήο κέξηκλαο. Δμάιινπ, νη 
θπζηνιαηξηθέο εθθιήζεηο θαη νη θσλέο πεξηβαιινληηθήο δηακαξηπξίαο, πνπ αθνύγνληαη 
θαηά θαηξνύο, δελ γίλεηαη λα ηπγράλνπλ νπνηαζδήπνηε θνκκαηηθήο εθκεηάιιεπζεο, ή 
ζπαζκσδηθήο αληίδξαζεο εληππσζηαζκνύ. Σν ιηγόηεξν ζα ήηαλ ηεξνζπιία κηα εθ ησλ 
πζηέξσλ ζεζκηθή παξέκβαζε ή κηα αλεπίηξεπηε δηθαηνινγία γηα όπνηα απεξίζθεπηε ή 
θαθόβνπιε νιηγσξία ζε βάξνο ηνπ θπηηθνύ καο πινύηνπ. Γηαηί, όπσο πνλέζακε θαη 
αγαλαθηήζακε από ην θάςηκν ησλ δαζώλ καο από ηα αεξνπιάλα ηεο Σνύξθηθεο 
εηζβνιήο, άιιν ηόζν πξέπεη λα πνλνύκε θαη λα νξγηδόκαζηε από ηελ πην αβάζηαρηε 
ζέα κηαο δαζηθήο ππξθαγηάο σο ην νδπλεξό μεξίδσκα κεξηθώλ «ακειεηέσλ» δέληξσλ: 
κόλν θαη κόλν γηαηί εκπόδηδαλ ηελ πξόζβαζε ζε θάπνηα επίζεκε είζνδν, ηελ 
απξόζθνπηε ζηάζκεπζε ησλ νρεκάησλ καο, ηελ αλέγεξζε ηδησηηθώλ ή δεκνζίσλ 
ζπγθξνηεκάησλ, βηνκεραληθώλ ή γεσξγνθηελνηξνθηθώλ εγθαηαζηάζεσλ.  
΢΄ έλαλ ηόπν ζαλ ην δηθό καο πνπ ππέθεξε ηόζν από ηελ αιόγηζηε μύιεπζε, ηελ 
ερζξηθή επηβνπιή θαη θαθνπνίεζε αιιά θαη από ρξόληα ιεηςπδξία, δελ επηηξέπεηαη πηα 
θακηά παξόκνηα ή άιιε αηαζζαιία. ΢ε ηνύηε ηελ ηνπξηζηηθή βξαρνλεζίδα, πνπ ιέγεηαη 
Κύπξνο, ε έιμε ηνπ ελδηαθέξνληνο θαη ηεο νκνξθηάο δελ θαλεξώλεηαη κόλν ζηα αξραία 
θαη Βπδαληηλά καο κλεκεία, ζηηο ειηόινπζηεο αθξνγηαιηέο θαη ζηα ππεξπνιπηειή καο 
μελνδνρεία, αιιά θαη ζηα Μεζνγεηαθά θαη ελδεκηθά καο δέληξα, ζηα ππθλόθπηα δάζε 
ησλ ραξαδξώλ, ησλ βνπλνπιαγηώλ θαη ησλ νξνζεηξώλ καο.  
Αιιηώο, ινηπόλ, επηβάιιεηαη από εδώ θαη κπξνο λα κεηξνύκε θαη λα δπγίδνπκε θαη λα 
κεηξνύκε ηηο επαηζζεζίεο θαη ηηο νηθνινγηθέο καο ζπλήζεηεο. Καη ηα αηζζήκαηά καο 
απέλαληη ζε ηνύηα ηα επινγεκέλα πιάζκαηα ηεο γεο καο θαη ηνπ νηθνζπζηήκαηόο καο 
λα απνθαιύπηνληαη απζεληηθά θαη απιόρεξα. Η έζραηε επηινγή καο είλαη κηα 
ζπκπεξηθνξά πνιηηηζκηθνύ ήζνπο, πνπ λα θαηεπζύλεη ηηο πξάμεηο θαη ηηο δξαζηεξηόηεηέο 
καο όρη κόλν κε θεηδώ θαη πεξηζπιινγή αιιά θαη θαη΄ νηθνλνκία ηεο θύζεο. Γηαηί όζν 
θαη λα ηα δέληξα αληηζηέθνληαη κε ην αγέξσρν θνξκί ηεο ιεβέληηθεο πεξεθάληαο ηνπο, 
όζν θη αλ επηκέλνπλ λα «πεζαίλνπλ όξζηα», άιιν ηόζν κπνξεί λα ιπγίζνπλ θάησ από ην 
βάξνο κηαο ζενκελίαο ή λα ππνθύςνπλ θαη λ΄ αθαληζηνύλ, αλππεξάζπηζηα ζύκαηα ηεο 
αηκνζθαηξηθήο κόιπλζεο θαη κηαο επηηαρπλόκελεο νηθνινγηθήο θαηαζηξνθήο. Θα ήηαλ, 
γηα ηνύην, γηα ηνύην ςεπδαίζζεζε ή νςηγελήο εμηιέσζε λα παξακπζηάδνπκε εαπηνύο θαη 
αιιήινπο κε ηε ρξήζε κόλν ηεο ακόιπβδεο βελδίλεο ή ηελ παλάθεηα ησλ θηιηθώλ πξνο 
ην πεξηβάιινλ πξντόλησλ. Όρη αλαπνηειεζκαηηθά εκίκεηξα αιιά ξεμηθέιεπζα θαη 
καθξόπλνα κέηξα πξέπεη λα αλαιεθζνύλ απ΄ όινπο καο ζε κηα ηεξή ζηαπξνθνξία γηα 
δηάζσζεο ηεο ρισξίδαο θαη παλίδαο ηνπ θπζηθνύ καο πεξηβάιινληνο, από ην νπνίν 
εμαξηόκαζηε άκεζα, θαζνιηθά θαη αιπζηδσηά. 
Δηδηθόηεξα, ηα δέληξα πνπ ηηκνύκε γηνξηαζηηθά απηέο ηηο κέξεο, ρξεηάδνληαη ηελ αγάπε 
θαη ηελ πξνζηαζία καο, γηα λα κπνξνύλ λα καο αληαπνδίδνπλ καδί κε ηε ζθηά, ηνλ 
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θαξπό θαη ην μύιν ηνπο, ηελ αηζζεηηθή ραξά ηεο νκνξθηάο ηνπο, ζ΄ έλα ηνπίν πγηνύο 
πεξηβαιινληηθήο ηζνξξνπίαο. Γηαηί, θαζώο ηα θπιιώκαηα θαη ηα θισλάξηα ηνπο ζαλ 
ζηηβαξά κπξάηζα αλαθιαδίδνληαη ζηνλ ήιην, νη αηέιεησηεο ξίδεο ηνπο εηζρσξνύλ βαζηά 
θαη ύζηεξα απιώλνπλ σο ην ρώκα ηεο θαηερόκελεο Κύπξνπ καο γηα λα ηηο ζκίμνπλ κε 
θείλεο ησλ δέληξσλ πνπ αθήζακε κε ηνλ μεξηδσκό καο ζηηο ξάρεο ηνπ Πεληαδαθηύινπ 
θαη ζηα πεξηβόιηα ηνπ Καξαβά, ηεο Λαπήζνπ θαη ηεο Μόξθνπ. Πάλε ζρεδόλ ηξηάληα 
ρξόληα, πνπ δνπιεύνπλ κε επηκνλή θαη θνπξάγην ζην κπζηηθό ηνπο εξγαζηήξη ηελ 
πνζεηή επαλέλσζε. Γηαηί ηα δέληξα ηεο γεο καο δελ μεξηδώλνληαη εύθνια θαη γηαηί 
ζξέθνληαη κε ην αθαηάιπην ρώκα πνπ ηα γέλλεζε. Γηαηί ηα δέληξα ηεο Κύπξηδαο 
Αθξνδίηεο δελ έρνπλ κόλν ςπρή αζάλαηε, κα θαη θαξδηά, πνπ ιαρηαξά αγλαληεύνληαο 
θαηάκαηα ηνλ ήιην. Αξθεί λα ξίμνπκε κηα καηηά ζηηο ραξνππηέο, ηηο ειηέο, ηηο κπγδαιηέο, 
ηηο ξνδηέο θαη η΄ ακπέιηα καο. Αξθεί λα νζκηζηνύκε ηελ αλαζεκηά ησλ ιεκνλαλζώλ θαη 
ησλ γηαζεκηώλ καο. Κη αξθεί λ΄ αθνπγθξαζηνύκε ηνπο θξαδαζκνύο ησλ δσληαλώλ 
ρπκώλ π΄ αλεβαίλνπλ απ΄ ηνλ θνξκό σο ηα ζαιεξά θιαδηά ησλ πεύθσλ, ησλ 
θππαξηζζηώλ θαη ησλ θέδξσλ καο. Σόηε κνλάρα ζα θαηαιάβνπκε. Γηα λα 
απνθσδηθνπνηήζνπκε ην ζεκαληηθό θαη ειπηδνθόξν ηνπο κήλπκα.  
 
 
1. Γώζηε κε δηθά ζαο ιόγηα ηα θύξηα κελύκαηα πνπ ζέιεη λα ζηείιεη ε ζπγγξαθέαο 

κε ην πην πάλσ άξζξν ζε πεξίιεςε 80-100 ιέμεσλ. 

(17 κνλάδεο) 
 
2. Δμεγείζηε ηε ζεκαζία ησλ πην θάησ ιέμεσλ ηνπ θεηκέλνπ:    (12 κνλάδεο) 
α) Ρεμηθέιεπζα 
β) Παλάθεηα 
γ) Οςηγελήο 
δ) ΢ηαζκίδσ 
ε) Δληαύζηεο  
ζη) Δπηζηεγάδνληαη 
δ) Απνθσδηθνπνηήζνπκε 
ε) Δμηιέσζε 
 
 
3. Γώζηε έλα ζπλώλπκν ησλ πην θάησ ιέμεσλ κε ηελ έλλνηα πνπ έρεη ε θάζε κηα 
ζην θείκελν: (9 κνλάδεο) 
α) Γαζόεζζα / δελδξόεζζα 
β) Αιόγηζηε  
γ) Καηάινηπα 
δ) Πεξηζηαζηαθέο 
ε) Οιηγσξία 
ζη) Αηαζζαιία 
 
 
4. Ση ελλνεί ε ζπγγξαθέαο κε ηηο πην θάησ θξάζεηο; (12 κνλάδεο) 
α) «θαη΄ νηθνλνκία ηεο θύζεο» 
β) «δηζπξακβηθέο αλαθνξέο» 
γ) «σθειηκηζηηθά καο θίλεηξα» 
δ) «αιόγηζηε μύιεπζε» 
ε) «λα παξακπζηάδνπκε εαπηνύο θαη αιιήινπο» 
ζη) «καθξνπξόζεζκε ζπιινγηθή πξσηνβνπιία» 
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ΜΔΡΟ΢ Β:  ΔΚΘΔ΢Η   ΙΓΔΩΝ  (50 κνλάδεο) 
 
Να αλαπηύμεηε έλα από ηα ηξία πην θάησ ζέκαηα (έθηαζε 300-400 ιέμεηο) 
α) Σν δάζνο πεγή δσήο  
β) Η ππέξκεηξε αλάπηπμε - απεηιή γηα ην θπζηθό πεξηβάιινλ ηεο Κύπξνπ 
γ) Η ζεκαζία ηνπ εζεινληηζκνύ ζηε ζύγρξνλε θνηλσλία. 
 
 
 

 

 


